<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

X
iy
o

&
o
N

X
iy
o

&

o
[N

: : A
] ] )

0.15[1{1 A HE - F={URT:15 R RO 31 OO 1 O
| . o

0.1 |+ A HE AVINOJE RS SO | O RO 1 O

£
RatloI
N e)
o N

=
*
£
T
v
>
o

+
s
£

ey s e

H

Ha-

[ RAAAERARRE AR RERE]
o [
a1

SV RBIRARAIRAR RN LA AR E]
3

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100

—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

100p , = 100 :
80F- ittal-- S 8OF{{|H[- -yt
C " N L q
60F-{[$HH]: - S 60 {i|-H4
C ¥ o] r "
40 11 v 40 H
20F-{|xH{tL 20E-1{|-H
oF- I oIt jLnt
g
~40f- [t ~40E-111'H et
o i F s | | . . 4
~60F-{|ffH1-- =60E- {1l ek I
-80F-{{tH]-- -80F-{{{-H{l-- 45 Poeeoedes
100:"': naAn o_lOO:lllli||||i||||!||||!||||!||||
2 : & Lo ARiHERHIEIRRIR
o o 12—«- 'I;M L # -l -" ‘ 444
1—“"'” il T osE{l- [HHt 4 BB I R
-3 2 6 1 2 3 Sk — 6 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

LI UL LN RN LAY LRSS LS L

oy

e

-1 0 1 2 3
TP n (PCA to beamline)

|
w

|
N



	Contents
	Page 1


